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zZ =y + x;

assume x <= 25;
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assume x < 0;
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assume z * (y % 23) < -20;
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EX (E: JER)
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post({e}, [st]) € {¢}
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ol {e} st {¢} BARE, EfF E{»} st {¢}.
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sp(p, assume p) < p A p
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sp(ep, sty; sta) < sp(sp(ep, st1), stz)

ERA.

sp(ep, sty; sta)

= post({p}, [st1; st2]))

={d"|Ise€ {p} A (s,8") € [st1; st2]}
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sp(i= 0, while (z){7:= ¢+ 1;havoc z})

& \/ sp(spk(i = 0,assume z; i := 7+ 1;havoc z), assume —z)
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{¢} st1;...;sty {0}

o JH wp I AP
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=y+X;
assume x <= 25;
X =2z %z - 2; cppre:yzl

assume x < 0;

Ppost * Y = 45

havoc x;
assume z * (y % 23) < -20;
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y=>1
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